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RG 105 | Tif 1 2,5 ‘ 4 500 1400 250
82 amer 2 25 3 450 1550 115 600
1006 | Ray 2 175 | 2 1600 | 200 600
1007 Ray 3 1 1,2 285 980 110 330
1012 Ray 2 1,75 2 1200 300 900
1701 Phi 1 1,8 | 28 340 960 300 1000
Equivalents
CK 1006 Ray = 1006 T 82 amer = 82
CK 1007 Ray = 1007 Ux 82 amer = 82
CK 1012 Ray = 1012 82 AF Syl = 82
G 82 amer = 82 82V amer = 82
G 2125 Val = 1701 182 amer = 82
G 2185 Val = 1701 182 A amer = 82
G 2340 Val = 1701 282 amer = 82
R 250 Rtn = 1701 382 amer = 82
R 254 Rec = 1701 482 amer = 82
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